
. '))t))'N 1Y 1'\!J)'.)I'.)) nnN n,)p))'.) N~Pn )p - l'lj, 

························------------

J\!/ D'l1U ny:nN DlY.I' .mmt 4-J 0,1\!/m )':lY.I '.:l'.:lnn nN np'.:lnY.l\!/ 1mm m1p) m~1) D'lY.l'n ')\!/ J\!/ \!/l!:!Y.l:i 
,nPm 

L 

360° = ,wr.m ,:i 

a + 290° = 360° 
a= 70° 

.90°-Y.l n)\Jpn mm -mn n,m 

.p1,,:i 90°-'.:I m1Y.1n mm - ti'!~' n,m 
(m'.:I m D'))1NY.ln D'lY.I' ,m n1~P nlY.I' nmiJ 



,nnio'l' n,m, n,Y.)'?'l'Y.) 1'l'':J m,,Y.)~n m,mn p,, nnmYJ nm, o~Y:J Nm 1'l'''l' o,y,p uN - nn,o~ n,,m 
.180° ,m,:, 

a+ 50° = 180° 
a= 130° 

B 

a~ 

b~ 

1 + ~2 = ~3 + ~4 = 180° 

• 0'1'l'' 2 ?'l' 1mm n1,p):J 1ip1ip ,m ,,p,,p nmpm>:)n nPm 'll'l' - n,,,,;,,ip n,,m 
. n, n nn'l' ni,i1p,ip m,m :)®: 

1 = ~3 , ~2 = ~4 

:J'l1NO.l1'T 

a=? 

:11,n£> 
: p, .(iln1\J'l' mm) 180° N1il 50°-, a )'l) )Y.)1:>t,'l) OlN)1 ))N 

.1 

a= ? .2 

:11,n£> 
.a = l 05° : p,, n, n,1,p11pn n,m, nn'l' a n,,nn 

a= ? .3 

A--'--+...- 1-----E :11in£> 
nmtYJ mN1, 1nm l 20° nnYJ BOC l'PmYJ 11m 

: ~BOE n,m nN :J'l)n) .90° il))'l) EOC 

C ~BOE= ~BOC - ~EOC = 120° - 90° = 30° 

_ 1500 _, nHYJ p,, 180°-, nmN nY.l')YJY.l ~AOB n,,m ,30° -, miYJ ~BOE l'Pm 



)'J pn,r.,n ,:i, nm pn,r.,n ,ir.,)'.,:i .o,w, m nN m o,:,mn on o,,,:ipr., o,,'ll, 
1l)Nt.:ln )pn Nm 'l'll 

, mnp nPm 4 + m1n nPm 4 .1 
.1,1u:i m)'tl mnpn nPmn '.,:,) 1,1u:i m)'tl nnnn m,mn ,:i 

.180° -, nn'tl cnnp + nin) nPm 1r.,.::1 ,:i ?'ll )t.:l):io 

<[ 1 = <[3 = <[5 = <[7 
<[2 = <[4 = <[6 = <[8 

.90° -, m)'tl Pn, p n,mn 1N'll ?:i ,(m'll' n,m, 90° n:i Nm nnN n,m i'tlN:i .2 

a --+-+=--+----

1<[ = <[2 = <[3 = <[4 = <[5 = <[6 = <[7 = <[8 = 900 



a __ ,__.,,,.._ ___ _ 

b --+----,------

a 11 b : llnl .1 
a = ? 

: )l1J1!> 

.a = 50° .nmi.1 1n p,1 ,m-rn nPmn ,n'll'll nnn, 1n'l 

a II b ,11m .2 
a= ? 

:)l1J1!> 

.13 = 120° p,1 nnp 13 n,m ,:, nnn, 1n'l 
.180° -, nnu-< nr:P?'llr.:i p,1 13 n,m, n-rm:s a n,m 

Cl = 180° - I 200 = 600 : p, 

a 11 b ,11m .3 
a=? 

:)l1J1!> 

180° -, 1'llm nN nr.:i,,'llr.:i 13 n,m'll mN,, 1n'l 
13 = 1800 - 400 = 140° : p,1 

.a= 13 = 140° , m1'll p,1 mnp 1nm'll 13 :r,,1m a n,m 



a=? 

, ·pl!l?\!I mo1tm mm '!l ?)I .2 

a=? 

, 1ll!l?\!I 010,on mm '!l ?)I .3 

a=? 

, Q)1\!ll 3 Jl)!)?\!I \'.)1\J10J .4 
.~a=2-~b ,1,m 

,mu,on mm, m 11m '!l-?Y 

c+e+d=? 

a II b , 11m .S 
,"101on mm, m 11m '!l-?Y 

a=? 

a II b : 11m .6 
,"1"1tm 'llm) m 11m '!l-?Y 

a+p+y=? 



a 

b 

C 

a II b II c , 11m • 7 
, m"itm 'lU1l1 m 11m '!l-?Y 

x-y=? 

a II b II c , 11m .8 
, m"iun mm1 m )Ull '!l-?Y 

(3-u+y=? 

a II b :11m .9 
, m"iun mm1 m 11m '!l-?Y 

a+j3= ? 

a II b : )UU .10 
,"m,un mrm m 11m '!l-?Y 



10 9 

30° 100° 

r 

,;i:c + ,;i:e + ,;i:d =? 

,;i:130° + ,;i:e + ,;i:d =? 

130° + mo 0 = 310° 

8 

70° 

7 6 5 4 3 2 1 

40° 328° 126° 310° 30° 130° 150° 

-, nll\!J Nm p?l I mo0 -, 30° -n n:J n,nm nN nO'?'llY.l a n,m 
.150° 

a = mo 0 
- 30° = 150° 

i7'.:1l•{\!) 

i7J.l\!l,n 

.l 

, 90° -n n:i n,nm nN 140° -r., ,um .2 

140° - 90° = 50° 

, 180° -, u,:ip'll 50° -n n:i n,nm nN no,,\!lr., a n,m 

a = mo0 
- 50° = 130° 

. om1u:i 3a -, n,11p11pn n,mn nN .3 
: moo Nln 1\!lm ?Y l'll'lHn OlJU 

a + 3a + 2a = mo 0 

6a = mo 0 
/: 6 

a= 30° 

-, nmu Nm p?l I 180° -, 80° -i7 n:J l1'lHi7 l1N nr.,,,\ljr., a n,m .4 

,;i:a = 2 · ,;i:b 
100° = 2 · ,;i:b 
50° = ,;i:b 

/:2 

.1000 
, m1mn nNn\Uon '!l-?Y 

, 130° -, nn'll p,1 , 180° -, ,;i:b n,m nN no,,\Ur., c,;i: n,m 



54° a 

b 

b----1-----

C 

NHi nnp n,nn mn mm ot:m , 1mm 1\!JNJ 
.180° 

, I 80° -, 54° -n nJ n,nm nN nY.l'?\!JY.l a n,m 

a = 180° - 54° = 126° 

.n, nn\!J p,, 32° -nm n,m, nYT1p-r,p P n,m 
n,m, nnp mm 01:,oJ 180° -, 32° -n m nmm nN nn,,\!JY.l a n,m 

.148° -, m,\!J p,, ,c 180° -, nn\!J 1mm 'l\!J )'J. mn 
.148° -, Nm m,\!J p,, a n,m, n,1,p11p y n,m 

: \!Jj71JY.lil ,,v,Jn l1N J\!Jnl 

a+ + y = 148° + 32° + 148° 

\J)'Y.l 1!:!p? )ml p,, 180° N1n p n,,m a nmt ?\!J o,:,on ,:, J? 1Y.l'\!J 
:JW'nil l1N 

(l + + y = 180° + 148° = 328° 

.s 

.6 

.n, m,\!J p,, 70° -nm n,m, n,1,p11p y n,m .7 
mn mm o,:,o ,1mm m, m o,,,Jpnn 1!lon omm 1\!JNJ 

N'm , 180° -, y mm nN nn,,\!JY.l x n,m p,1 , 180° Nm nnp n,,m 
. I 10° -, m,\!J 

: \!Jp1JY.lil '1V'Jil l1N J\!Jnl 

X - y = 110° - 70° = 40° 

.n, nn\!J p,, 110° -nm mm, n,1,p11p y nm, 
n nn\!J 11m,,1ln11n m,nm ,:, , 1mm omm 1\!JNJ 

. I I 0° -, Nm m,\!J, ,Y mm, m,\!J a n,m , p,, , n, 
a nN nn,,vn p mm p,, ,180° Nm nnp mm, mn n,m 01:,0 

. 70° -, nnv nmm , 180° -, Cl 10°) 
: Vp)JY.lil '1V'Jil l1N J\!Jnl 

- a+ y = 70° - 110° + 110° = 70° 

.8 

.50° -, mw p,, , 180° -, 130° -n nJ n,mn nN nn,,vn a n,m • 9 

-, m,\!J p n,m m p,1 ,(11Z11 - m!l,nnn nPmJ a mm, m,\!J p mm 

.50° 
, \!JPlJY.ln ,,\J'Jn nN J\!Jm 

(l + = 50° + 50° = 100° 



a a~-~-----

Nm nnp 1i,m1 n1n n,m 01::,0 ,1nm1 o,,,::,.p~ o,,~, omm ,~N::, .10 
: P?l ,180° 

a+ Sa= mo0 

6a = mo 0 

a= 30° 
/:6 
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